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English

Read the following passages and answer the questions based on your understanding:

One sunny morning, a young girl named Lily decided to explore a forest called the Enchanted
Forest. She walked along a narrow path, surrounded by the soothing sounds of chirping birds and
rustling leaves. As she walked deeper into the forest, the air became cooler and the sunlight filtered
through the leaves, creating a mesmerising pattern on the ground. Lily spotted a family of deer grazing
peacefully in a meadow. She watched in awe as a playful squirrel chased its tail up a tree. Further
along the path, she discovered a clear, babbling brook. The water was so clear that she could see the
colourful pebbles at the bottom.

As she continued her journey, Lily came across a stunning waterfall. The water tumbled down
from a great height, creating a gentle mist that cooled the air. Nearby, a group of butterflies danced
around a cluster of wildflowers, their vibrant colours adding to the enchantment of the place. Lily sat
down by the waterfall, feeling the cool mist on her skin. She took a deep breath, inhaling the fresh,
earthy scent of the forest. She closed her eyes and listened to the symphony of nature around her —
the chirping of birds, the rustling of leaves, and the soothing rush of water.

Time seemed to stand still as Lily immersed herself in the beauty of the Enchanted Forest.
She felt a deep connection to nature and realized how important it was to preserve such magical
places. With a grateful heart, Lily left the forest, carrying the memory of its beauty with her forever.

Questions:
1. What inspired Lily to explore the Enchanted Forest?
a. A cloudy afternoon b. A sunny morning
c. A rainy day d. A moonlit night
2. What did Lily see the family of deer doing in the meadow?
a. Grazing peacefully b. Napping under a tree
c. Chasing each other d. Climbing a tree
3. What did the butterflies add to the place near the waterfall?
a. A sense of mystery b. A feeling of danger
c. A sombre atmosphere d. Vibrant colours and enchantment

4. What did Lily feel on her skin as she sat by the waterfall?
a. Warm sunlight b. Cool mist
c. Raindrops d. Breezy wind


https://www.padasalai.net/

5. What realization did Lily have during her time in the Enchanted Forest?
a. She wanted to build a house there.
b. She should never visit the forest again.
c. She wanted to bring her friends to the forest.
d. Nature should be preserved and protected.

1. Manohar recorded the average growth of plant as given in the table. According to his

Mathematics

observation in which week the plant has highest growth?

Week First week Second Week Third Week Fourth Week
Average Growth 4 5 3 1
(cm) 7 8 5 2
a.First Week b. Second Week c. Third Week d. Fourth Week

2. Which of the following line segments has a length of v/8 units in the given figure?

N

g

N~

a. AB b.CD

c.EF

d. GH

3
3. Which one of the following is equal to (4)z ?
a.2 b.8 c. 16 d. 32

4. Read the following statement and choose the correct one:

Statement 1: r = Vx™ = r" = x™

1 1
Statement 2: r = Vx™ = rm = xn

a. statement 1 only true
c. both the statements are true

b. statement 2 only true
d. both the statements are false

V5-2
5. If NI a /5 + b then, the value of aand b are

a.a=4,b=9 b.a=-4,b=9
c.a=-4,b=-9 da=4,b=-9
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SCIENCE

Kavitha takes a walk on a circular path of 2 meters radius in a nearby park. If Kavitha
stops walking when the distance covered by her is 44 m and the displacement is 4 m, how
many rounds will Kavitha have done?

a. 2 rounds b. 3 rounds c. 3.5 rounds d 2.5 rounds

1. X and Y are two elements in which X has 7 electrons in its L shell and Y has 7 electrons
in its M shell, here X and Y are

a. X — Fluorine Y - Chlorine b. X — Fluorine Y — Argon

c. X—Argon Y — Chlorine d. X—Argon Y - Fluorine
Which of the following diagrams represents electronic configuration of potassium ion?

b.

T T T 7l
b L & 4 A
aleteler 7

Match the time taken for the cells to rejuvenate:
1. Skin cells - a. about every 10 years

2. Bone cells

b. about every 2 weeks.

3. Liver cells - c. about 120 days

4. Red blood cells d. about every 300 — 500 days
a.1-b,2-a,3-d,4-c b.1-d,2-a,3-b,4-c¢
c.1-¢,2-d,3-a,4-b d1-d,2-¢,3-b,4-a
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SOCIAL SCIENCE

1. What causes your home's total labour force count of 2 according to the census of labour
force?

a. since there were two people over the age of 12.

b. Since there were two people over the age of 65.
c. Since there were two people between 15 and 60.
d. Since there were two people between 12 and 65.

2. Persons who have crossed 60 years of age are excluded from labour force, Then, if a country
has more population above 60 years, choose the correct possible outcomes?

I. The nation's overall economic value will decline.

ii. The strength of the labour force will decrease.

iii. The number of people to maintain will decrease.

iv. The nation's growth and development will be gradual.
a. i, ii and iii are correct.

c. 1, iii and iv are correct.

d. i, ii and iv are correct.

3. Observe the given data and find the correct statements below:

Employment data (sector-wise) 1972-2012 (in %)

Sector 1972-73 ] 1983 | 1993-94 | 1999-2000 | 2011-2012
Primary 74.3 68.6 | 64 60.4 48.9
Secondary | 10.9 115 | 16 15.8 24.3
Service 14.8 16.9 | 20 23.8 26.8

i. Data Shows substantial decline in Primary sector.

ii. Secondary sectors are gradually increasing from 1972 to 2012.

iii. Service sectors have shown decline from 1972 to 2000.

iv. Primary sectors are futures for the Indian workforce.

a. i and iii are correct.

c. i and iv are correct.

b. i and ii are correct.

d. ii and iv are correct.
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4. We know that India is an agrarian nation. But, From the data of Employment status of India
shows, in 1972-73, about 74 per cent of the workforce was engaged in the primary sectors
and in 2011-12, this proportion has declined to about 50 per cent.

Find out what are all the possible reasons for the decline of the primary sectors?
i. Uncertain Monsoons and Poor Irrigation Infrastructure.
ii. people have moved to casual wage work for regular salaried income.
iii. Government creates unique policies and programmes.

iv. Primary sectors are non-profitable and informal Enterprises

a. i, ii and iii are correct b. ii, iii and iv are correct.
c. i, iii and iv are correct d. i, ii and iv are correct.

5. On 90% of our ancestors worked in one of the primary occupations. In a classroom,
90% of the children claim they wish to work in the service sector in the future.

Find the statements that apply to the implications of this change?
i.Share of the primary sector to the GDP may decrease.
ii. India may fall short of becoming self-sufficient in food production.
iii. Cost of raw materials may increase and shortages may occur.
iv. Secondary production will increase and exports will increase.

a. i, ii and iii are correct b. ii, iii and iv are correct

c. i, iii and iv are correct d. i, ii and iv are correct
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